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1 Factor the expression completely:
223 4+ 162% + 30z

2  Factor the expression completely:
ab® + 7ab — 60a

3  Factor the expression completely:
zy® + 17zy® + T2zy

4 Factor the expression completely:

2mn’ — 50mn

5 Factor the expression completely:
a® + 7a® + 2ab + 14b
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6 Factor the expression completely:
33+ f2—12f -4

7  Factor the expression completely:
5’z — 9x® — 5y2z + 9y2

8 Factor the expression completely:
zly — Txly — 18y

9 Factor the expression completely:
abc® — 2abc + ab

10 Factor the expression completely:
533y4 — 80x
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Applied Questions

11 Explain the error in the factoring problem below and make the correction.
Tyzt — 28y2? + 21y
Ty(2* — 422 + 3)

Ty(2® 4+ 3)(22 + 1)

12 Explain the error in the factoring problem below and make the corrections.
52° — brytzt

5x°(1 — y2*)
52°(1 — 22%) (1 + y*2%)

52°(1 — yz)(1 + yz) (1 + y*2°)
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13 Write an expression for the perimeter of the triangle and then factor the
expression completely.

322

25x

14 Jordan says that the equation can be solved for the unknown variable using
factoring by grouping. Bennett disagrees and says that the equation cannot
be solved by factoring. Who is correct? Explain your thinking.
z° — 1023+ 9z =0
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15 Solve the equation by factoring.
3z = 48z
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Answers
e )
Question Question Answers Standard
number
1 Factor the expression completely: 223 + 1622 + 30z HSA-
223 4+ 1622 + 30z 2x(x* + 8z + 15) SSE.B.3a
2z(z + 3)(z + 5)
2 Factor the expression completely: ab + 7ab — 60a HSA-
ab + 7ab — 60a a(b® 4 7b — 60) SSE.B.3a
a(b+12)(b—5)
3 Factor the expression completely: zy® + 17zy? + T2zy HSA-
zy® + 17xy? + T2zy ry(y? + 17y + 72) SSE.B.3a
zy(y +8)(y +9)
4 Factor the expression completely: 2mn? — 50mn HSA-
2mn® — 50mn 2m(n® — 25) SSE.B.3a
2m(n — 5)(n +5)
5 Factor the expression completely: a® + 7a® + 2ab + 14b HSA-
a*(a+17) +2b(a+7) SSE.B.3a
a® + 7a® + 2ab + 14b (a+ 7)(a® + 2b)
6 Factor the expression completely: 33+ f2—12f—4 HSA-
35+ f2—12f—4 fA3f+1)—4(3f+1) SSE.B.3a
(f*=4)(3f+1)
(f=2)(f+2)(3f+1)
7 Factor the expression completely: 52%z — 922 — 522 + 9y | HSA-
52%z — 92% — 512 + 9y° 2*(52—9) —3*(52—9) | SSE.B.3a
(2* — %) (52— 9)
(z —y)(z+y)(5z-9)
8 Factor the expression completely: a:4y — Tzly — 18y HSA-
zly — Ta’y — 18y y(w4 — Tz — 18) SSE.B.3a
y(z® —9)(z* +2)
y(z — 3)(z + 3)(z* + 2)
- 4
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e )
Question Question Answers Standard
number
9 Factor the expression completely: abc® — 2abe + ab HSA-
abc® — 2abc + ab ab(c® — 2¢+ 1) SSE.B.3a
ab(c—1)(c—1)

10 Factor the expression completely: 5a:y4 — 80z HSA-

5zy* — 80z 5x(y* — 16) SSE.B.3a
bz(y’ —4)(y* +4)
5z(y — 2)(y + 2)(y* +4)

11 Explain the error in the factoring 7yz4 — 28y2% + 21y HSA-
problem below and make the SSE.B.3a
correction. Ty(2* — 42% + 3)

Tyz* — 28y2* + 21y Ty(22 +3)(22 + 1)~
The error was made in

Ty(2* — 422 +3) this step.

Ty(22 +3)(2* + 1) The correction is:
Ty(2* — 3)(2* — 1)
Ty(2* —3)(z —1)(2 +1)

12 Explain the error in the factoring 5z® — 5acy4z4 Standard
problem below and make the 52°(1 — y*2*) - The included
corrections. error was made in the
5z° — by’ first step. 5a° is not

the GCF to be factored
52°(1 — y*2?) out of the original

expression. The GCF is
52°(1 — *2) (1 + y*2%) 5.

The correct way to
52°(1 — yz)(1 + y2)(1 + y°2?) factor the expression

is:

sx(zt — yt2h)

5$(£172 _ y2z2)(m2 4 y2z2)

5z(z — y2)(z + yz)(z* + y*2)
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e )
Question Question Answers Standard
number
13 Write an expression for the Perimeter = HSA-
perimeter of the triangle and then 322 + 25z + 8 SSE.B.3a
factor the expression completely. Perimeter =
3z +1)(z + 8)
3 322
25x
14 Jordan says that the equation can be @ Jordan is correct, the HSA-
solved for the unknown variable equation can be solved = SSE.B.3a
using factoring by grouping. Bennett = using factoring by HSA.REI.
disagrees and says that the equation | grouping. B.4
cannot be solved by factoring. Who
is correct? Explain your thinking. > — 1023 + 92 =0
z’ — 10z + 9z =0 z(z* — 102> +9) =0
z(z? —9)(z2—1) =0
z(z—3)(z+3)(z—1)(z+1)=0
r=0zx=3x=-3z=1z=-1
15 Solve the equation by factoring. 3z = 48z HSA-
3c° = 48z 3z° — 48z =0 SSE.B.3a
3z(z*> —16) =0 HSA REL.
3z(z —4)(z+4)=0 B.4
3 =0x—4=0z+4=0
r=0x=4zx=-4
\ J
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